(Time: 2% hours)

Please check whether you have got the right questlon PaPe’ '
N.B.. (1) Al questlons are ompulsog &

(3) A"SWEfS tothes M n must be written together Q :
(4) Numbers to the right indicate marks. & \\‘“ o R ﬂ\
SN :

5) Draw neat labeled diagr .

(6) ; f———N grams wherever n eces%ag\\\\ Ziodh

(6) Use of Non-programmable calculatornsa]lcﬁvedy RSO
Yy _

1. Attempt any two of the followmg \’v;
a.  Explain the five basic parameters of thesso

b.  Explain the drawbacks of Wate{faLPMog (&8
c. How software snze can be reduce ? Expla\l
d. ifge
2.
a.
two life cycle stagesS Q@Q,\\\ '&Q"\\q{k A
Explain "Elaboté‘tIG}\\:P}tk S8 (\?f\\ttle’\c
c. Listall thetflve arti ﬁgt"s” t 57 E Explaif
d. Discuss techmca]jgé sb ,

N

p;—t:'i(",\a.'/\'\j‘ o RS
’\\ R AN <\ S P (Q" <
3. Attemptan ztwo,qf\he ‘ 10
a. erteashort note,( )| QI\‘/la'jg \ o R TS
A ESS Ik W)
b. orDefme*WBSVEXpLa Evolu ti al :Do n Structures.
o 22 A ok e 4 7,-.‘-?"
;\ ‘E\Xplalnthe lteratg rplanhing-process: NI
’ vele emphasi ted with each workflow.
10

X lAttempt anz two 3

]

& Defme Organlzatlonal stru‘ct\up ,A
g explaln mam featu;es of de\fauitil e of business organization.

DISCUSS varnous change categones defined on the basis of causes of change.

iat \change category to the following changes:-
"_i)i’l?vé?gft_o'fnie‘wgQl'a‘t-fo'[ﬁi lj_')"Loss of user data iii) Use of colours to differentiate
pdates from the~prewous version  iv) Browser expands but doesn’t collapse
&N d|splayed entnes v) Upgradatlon to improve query performance

S Explam mappmg between process workflow s and software development tools.

; ‘d How the tea ms‘grawty shifts over the life cycle? Explain.

[TURN OVER]
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